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ALL RIGHTS RESERVED FO-FB/CC/M/2017-02
gaffererr gufaa

2018
GENERAL STUDIES
EHT A4
PAPER—I
q3—I
Time Allowed : 3 hours Maximum Marks : 300
aqy : 3 90 gurfes : 300

Instructions :

e The figures in the margin indicate full marks.

e Answer eight questions, selecting three each from
Section—I and Section—II and two from Section—III.

» Candidates are required to give their answers in their
own words as far as practicable.

 All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

e Parts of the same question must be answered
together and must not be interposed between
answers to other questions.
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SECTION—I
Tue—I

1. Describe the people’s participation in Bihar
during the Quit India Movement of 1942. 38
1942 F W IQ A=A H A foe #
SHsTfE@ 1 avfa i)

2. Discuss the development of Western
education in Bihar from 1813 to 1947. 38
fer & 1813 ® 1947 d% ugaT an & fawm &
= i)

3. Throw light on Mauryan Art and analyze its
" impact in Bihar. 38
B e T g iy e R # gEeh wE
frgdmor Fifv)

4. “Gandhi’s mystique consisted of a union of
original ideas with a remarkable flair for
tactics and an uncanny insight in the mass
mind.” Elucidate. 38
“ﬁ%ﬁﬁwﬁmﬁﬁmﬁ?ﬁw,m—ﬁﬁ
Hﬁaaqﬁiﬁt?ﬁﬁ%wﬁaﬂ@ﬁa%waaﬁl@

o wfte R swEn Hif |

5. Evaluate the contribution of Rabindranath
Tagore in Bengali literature and music. 38

maﬁwam@ﬂaﬁmu%ﬁt%mm
Hedieh HISTC |
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6. Examine the main features of Foreign Policy
of Jawaharlal Nehru. 38

SaTetETe YeE 6 fRu-Afd % @ aEel s ahE
$ifs)

SECTION—II
Qus—II

7. What is Doklam standoff? What were its
underlying causes? What did India learn on
diplomatic and strategic platform from it?
Can the Gandhian philosophy be helpful in
resolving such disputes? If yes, how? 38

e TRAY T 2?7 TS FMRd RO F A7
AT Y T TSR Td WHIGS e 9 1 HWRan? R
T R ¥ EE # gesm § id =i sErh |
g&ar 27 afe =, @ HA?

8. Elucidate the Demonetisation Scheme. In
your views, up to what extent it was
successful or unsuccessful? What were its
effects on the Liquor Ban Policy of the Bihar
Government? 38

Rrggior A 1 wqE ) e e 7 B &=
A% I8 ASHT Uha siuEl ke {7 frer wer R
e gfera Hifd w3 = aaE TR
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9. Thoroughly explain the dispute between
North Korea and America. Is United Nations
playing an important role in resolving this
dispute? If yes, how? And, if no, what are the
underlying reasons? Give some suitable
suggestions in resolving this issue. 38

waﬁﬁm@wﬁﬂm%ﬁaﬁaﬁﬁﬁwnﬁ
EeE| N T faER R T B A WIE TG T
Ws@mﬁm@%?aﬁﬁ,a%@r?sﬁx,aﬁ
qﬁ,?hsn%aﬁrﬁ%amw%?saﬁamaﬁ
gasm § F9 IR g A

10. What is GST? What were the major reasons
behind its introduction in India? What were
the pros and cons of its implementation on
India’s economy and its monetary policy? 38

Gﬁompﬁow%?mﬁmqﬂaa%vﬁ@w
Wwé?mﬁaMm@rﬁﬁ%:ﬁﬁm
T FEt=EE @ F oA @ IHEE g

11. What do you understand by human rights?
Throw light on the Universal Declaration of
Human Rights (1948) by UNO. What were the
major efforts made by the Bihar Government
in fostering them in last decade? 38

A ¥ S w1 EHEa 8¢ WY U W OEW
naRER Y g o (1948) WONRR
mlmmmﬁ@é@mﬁﬁméﬁ
3q @ wg@ e fee T
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SECTION—III
Q|us—III

12. Study the following line graph which gives
the percent profit earned by the three
companies A, B and C during the period from
2011 to 2016 and answer the questions
given below :
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2011 2012 2013 2014 2015 2016
Years
(a) The income of company B in 2012 was
¥ 60 lakhs, which increased by 30% in

the year 2013. Find the expenditure of
company B in the year 2013. 6

(b) 1If the expenditures of companies A, B
and C in the year 2016 were equal and
their total income in that year was
¥ 870 lakhs, find the profit of each
company in that year. 10
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(c) If the companies A, B and C had an
expenditure of ¥ 200 lakhs, ¥ 300 lakhs
and & 400 lakhs respectively in the
year 2014, find the ratio of their profits
in 2014. ‘ 8

(d) If the incomes of companies A, B and C
in the year 2015 were equal and their
total expenditure in that year was
¥ 1,835 lakhs, find the profit of each
company in that year. 12

= TEr-sneE o s i, e dm s
A, B @ C g aifRfa ufewa «mw s@fy 2011 9
2016 d% ¥ fore famn T ?, q«n 39 Tl & I SN
*"ﬁ?&ﬁ?:ﬁ%ﬁqmi%:
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(%) ad 2012 # Ot B &l 3T & 60 <@ oft, s
¥ 2013 T 30% 9@ TS| Hrgft B &1 a9
2013 T =¥ |4 shifsia |

(@) afe safaat A, B @@ € &1 9§ 2016 # =9
SO AT AT 390 38 99 W A 3™ & 870
@ oft, @ IAS FEE HT Ig 9§ F o Fa
Hifsa |

(1) =fe FfAAt A, B @1 C &1 9§ 2014 § =9
FAN: € 200 @@, T 300 @@ dAT & 400
rE o1, 9 T 2014 0 396 A BT SgAE T4

RSy

(=) =fe =t A, B a1 C & 99 2015 § 319
sOEL oft 91 31 39 99 H e =9 € 1,835
@ AT, al TS R BT 3 g A ey a9
s

13. Study the data given in the following multiple
bar chart which shows the production,
export and import (in ¥ crore) of country X
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during the period from 2006 to 2013, and
answer the questions given below it :

[0 Production
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J B Import
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& 12007 —] 13
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2006 2007 2008 2009 2010 2011 2012 2013
Year

(a) In which years the ratio of export and
import was maximum and minimum for
country X? What were those ratios? 6

(b) - In which year the highest percent of its
production was exported? What was
that percentage value? 6

(c) 1If for the country Y, the ratio of produc-
tion, import and export is 7:6:5 and
production in y in the year 2014 is
double the production in X in the year
2013, what was the value of the export
and import from Y in the year 20147 8
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(d) What percentage of production was
imported in the year 2008 and 2012 in
country X? 6

(e) What percentage of export should be
increased in 2007 in X so that the
difference between its production and
export is Y4 of its import? 10

= sg-wremeht dETE % SAiwsSt w1 steEa i,
e freh 3w x & emmfr 2006 @ 2013 % @
Ired, Frafa e emma (F e #) femm nw &, qen

O I«rEa
=t
z:: I T
1600 - [ -
1400 +
7 1200+ 1
n 10004 - i E
1 7 7:
800 + 4 ;4
i | 1
60 / /'

2006 2007 2008 2009 2010 2011 2012 2013

ay

() QX = fopa anl | fAgla @ s &1 sgu«
JAftrhan T =gFaA 417 A IgAT@ #M A?
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(@) fra ad & ga*% I w1 gaifvs vfawa Fafa
gen? =g ufawa "= fham en?

(M) =z et 3w Y & fow Ire, omaa w fafa
HAIAA 7:6:5F MM Y #d ¥ 2014 |
I X # 2013 & 3G &1 & AT &Y, < W
Y & af 2014 # gu fafa @ smam@ &1 5@ F=0n
q7

(@) 2w x ¥ 9d 2008 W& 2012 T I 1 foha
yfasa smam e e

() 2w x ¥ af 2007 A fafa fra wfiwa sgrn
s % 3@k IdT @ fafa =1 s =w, @&
S 1 Ve B AP

14. Study the following pie charts which show
the sales for a company in India in the year
2016-17 and answer the questions given

below it :
Sales by location of company Sales by product
(in million &) (in million &)

Total sales : ¥ 1,800 miillion
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(a) In the next year, the sales of cars were
expected to be double, assuming that
the total sales are increased by ¥ 200
million, what would be the percentage
share of cars in the total sales? 8

(b) If in the subsequent year, the mobiles
are to increase their share by 20%, then
assuming that the total sales are again
increased by € 200 million, by how
many millions of rupees the mobile

sales would be increased? ' 10

(¢) If 40% of the cement sales were in
Maharashtra, then what was the value
of wules of other products in
Maharashtra in millions of rupees in
2016 177 8

(1) If in 2016-17, Delhi has the sales of
only cement, steel and cars and that in
the ratio 5 : 3 : 1, then what percentage
of cement out of total cement sales in
India was sold in Delhi? 10
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= 9 YEifEl 1 srwEd it ed wia h o
et < fsht af 2016-17 # €t T }, q A T
F I AR St o> = Ry e 2

FqA B T HTER fasht

(%) IR ot ad wri A feh A T AR K gerE
A qu ¥g 7@ oive & @ el & € 200
fafr A 9fa g€ 3, @ T A Tk & T
g fasht 1 e wfawa dm?

(@) 3R oM 9 ad § daga Gkt @ e 20%
s¢ W@ aw "HW oite B pa fwht 7 g
& 200 faftrm &t gf & ?, @ WaTsa ot 4
Fa fra fifeem =@ H gfa e
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(n) ufd 2016-17 § e Rl @1 40% WETE A
wi, @ wey W gl @ fshl & T
fapay fuferm s «n?

() ufa 2016-17 # R # Faa @@=, EA 3R
a6 faf) g8 @ ol I @ 5:3: 1
@, uudﬁ@tﬁﬁ?ﬁﬁaﬁﬁmﬁuﬁw

15. The following graph shows the expenditure
on arms of the three countries A, B and C (in
€ thousand millions). Answer the questions
that follow on the basis of the graph :
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(@) Which country had the steepest rise in
its expenditure on arms compared to
the previous year and in which year? S

(b) What was the percentage increase in
expenditure on arms of country A in
2017 compared to 20127 S

(c) The amount spent by country B in 2017
is what percentage of amount spent by
it in 2011? S

(d) If in 2018, the amount spent by country
C will be 30% more than that in the last
year and the amount spent by country
A in 2018 remains same as that in
2017, what will be the difference
between the amounts spent by the

#  countries C and A in arms in the year
2018? 11

(e) What percentage of expenditure on
arms should be increased by the
countries A and B in 2015 so that the
expenditure on arms by A, B and C
becomes same for the year 2015? 10
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(=) =fe 2018 & 2w C 3T =7 Y 7 Ul Ao a9
= ge T § 30% 27fteh & e W A g’ 2018
%= i T af 2017 ¥ =w H 0l F
A B, @ 9§ 2018 ® I C qAT A AT
et # = afdt & = fraar s Bme?

(¥) W AW B3R 2015 F AW W 3w = i
forat wfeera <t gfs < s @ 2015 & A, B
g C & AR W BN S S5 99 8 S ?
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